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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

State the objects of warping.

List out different types of creels used in warping.
State the object of thread stop motion on warping machine.
State the objects of sizing.

Give the function of softeners and lubricants in sizing.
State the function of squeeze roller.

State the function of expandable comb.

State the necessity of dobby.

List different types of dobbies.

State the function of lags and pegs in dobby.

State the advantages and disadvantages of magazine creel and V — creel.
OR
State the objects of sectional warping.
Draw a neat sketch showing the passage of warp on ordinary warping
machine.
OR
Give causes of any three warping beam defects.
Differentiate between: Direct warping and Sectional warping.
OR
Classification of warping machines.
State the salient features of modern high speed sectional warping machine.
OR
Calculate the production of warping machine in kg/shift from the following
data:
Warping speed = 600 m/min, Efficiency = 55%, No. of ends = 550, Yarn
count = 50° Ne

List the ingredients used in sizing. State the function of antiseptics and
adhesives.
OR
Explain with neat sketch the construction of modern size box.
Explain in brief foam sizing.
OR
Write a brief note on “Different methods of drying”.
Explain multi-cylinder drying system used in sizing.
OR
Explain size level control in sizing.
Calculate the production of sizing machine in pounds/shift from the following
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data:

Sizing speed = 80 yds/min, Efficiency = 50%, Time = 8 hours, Yarn count =

64° Ne, No. of ends = 4250
OR
Write a note on “Different types of creel used in sizing”.

Give causes and remedies of any two sizing defects.
OR
Explain beam gaiting.
Explain in brief sizing of P/C blended yarn.
OR
Draw a neat sketch of modern multi-cylinder sizing machine and name its
parts.
Explain with neat sketch construction and working of climax dobby.

Compare single lift dobby and double lift dobby.

Give the remedies for different dobby cloth defects.
Explain in brief single end sizing process.

Explain the importance of drawing-in and denting process.
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